==
N & o & AF & H Al A
202298 & =04 LBHSIH ASTAIEE 2
FN: ASTAMEES
M AE g8 D18 ¢ XA
S Al OI0IX M2 82 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
LS TAE G2 3,716,587 2,523,155 1,193,432
ANE 22 J18 2 X3 1,080,039 1,005,792 74,247
Al OIOIKI M1 g8 863,855 853,448 10,407
ANE F=QAH 2 58 2 842,695 831,928 10,767
201 L2l 836,075 825,308 10,767
01 At 22l 836,075 825,308 10,767
OANE =AM 82 500,000
o &S AL 10,000,000 = 5JH At * 33l 150,000
o 2t 5,000,000& * 4 At = 103 200,000
SFAN L Y S
2,200,000& = 110 A = 63l 145,200
o MEHII| 400,000& = 1AL = 123 4,800
OANEEER g5 X 315,675
oS UIE NRRS2(Y2AX)
18,000& = 1,130% * 12& 244,080
CEX MBRSR(FTAX)
3,500& * 185% = 12& 7,770
oHIE AMRRER(F2AX)
3,500 * 9452 x 6 E 19,845
SMOIESXNER ME2REZ
18,000& » 8IH&E = 4H = 12& 6,912
oYY NSIPS2(YAN)
18,000& » 1065 » 128 22,896
cdaY ME2ISE(F2N)
3,500& * 1065 » 12& 4,452
cRLIHEE M2R=E
18,000& = 45% = 12& 9,720
OHEEE 2o 220 08 20,400
CcHEEE A3 Z2Y 0l8=
1,200,000& * 12&8 14,400
odgZellly =& 0188
250,000& = 27 & * 128 6,000
202 Oddl 1,620 1,620 0
01 = LH YI 1,620 1,620 0
OANE =AM g2 0t
81,000& = 298 = 2 « 53| 1,620
203 R =&l 5,000 5,000 0
03 Al =X A2 =XH| 5,000 5,000 0
OANEEE Udegs 23 5,000
s2z2Y 24 21,160 21,520 A 360
201 LB-2E| 21,160 21,520 A 360
01 At 22l 20,160 19,920 240
oEselds 29 180,000& * 123 2,160
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2N

U

2t

LASTANEHS
HE: AUKNYHE A 25
el FE2S4A AIA"E D& )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Os4a J123l 100,000& * 12& 1,200
OSSN dFARII A28 7¢
350,000& = 1CH = 23] 700
02 2324l 837,120 837,120
OSHsHAERZ 60,350,000& * 12& 724,200
OZFES4 4 |X2el 10,000
OUERZD EZ2HOH AMAE R
7,820,000& * 14 7,820
Ot=d" ¥ RANEx 4,500,0008 * 14 4,500
Od A NHALAE SNES
3,800,000& = 14 3,800
OCHHYWEI ALY RXES
20,800,000& = 14 20,800
OHESH FUHzZ FNES 24,000
OsAgae: FPEHMAZX BB WX
2,300,000& = 15CH 34,500
OHEALRX RXNES 7,500
202 04l 6,456 6,456
01 = LH 4 di 6,456 6,456
OSM 2| LLEX
81,0003 = 38 » 2g « 43| 1,944
Os4&&EH X2 138,000& » 2 » 128 3,312
OZFESALISAL AHEXZ AL 1,200
206 = Hl 3,000 3,000
01 MHZ 4l 3,000 3,000
OFESY RA2e 225 ¢ 3,000
405 XHobF S HI 399,500 399,500
01 HatL ESFH S 399,500 399,500
OAg A HWESRZD A/AX 2L (L H)
2,500,000& = 8CH 20,000
Ot IHAESIMHI A 2= 360,000
OMSEA REMMAEFI(UPS) #+
3,900,000& =« 5CH 19,500
HEAMY Ji=ggR X& 5,544 5,544
HEAE HEXA 5,544 5,544
HEAMY D=2 X 5,544 5,544
202 O4dl 5,544 5,544
01 = LH 4 Hi 5,544 5,544
OMLAY D= NE =T (2U)
100,000& 3 = 128 3,600
OMLAY D= Nd =T (22)
81,0004 = 2H = 123 1,944
HE2IZH (AS LA 2 116,084 9,494




SN ASTMSLH
M HES AL (ASAAS L)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ol 23| 85,056 76,839 8,217
oz 23| 85,056 76,839 8,217
101 2124 d| 85,056 76,839 8,217
03 BLA(RIHS) 22 XNE L 85,056 76,839 8,217
OJlea3vss) 2,067,209& * 1H  12& 24,807
oJle2(bzs) 1,953,967& * 19 * 12& 23,448
Odz2+g (95 2) 2,067,209 * 0.35 * 23] 1,448
O¥d2x==& (55 8) 1,953,967& * 0.25 = 23] 977
OYESIIHI (95 2) 2,067,2098 * 0.6 * 23] 2,481
OHEESIIHI (b= =) 1,953,967 = 0.6 * 23] 2,345
OdXNRESsILEH(952)
103,650 * 18 = 18 1,866
OdXNRESsILEH(basE)
97,410& * 198 » 18 1,754
OXH&EHASE 150,000& * 29 = 12& 3,600
O&dHZ A 120,000& * 29 x 12& 2,880
Ol < 150,000& * 29 = 12& 3,600
OxLRY 110,000& » 29 x 12& 2,640
OIs4 160,000& * 29 = 12& 3,840
ONeRRLY
19,5203 * 29 = 20A[2t = 12& 9,370
Jl2& bl 31,028 29,751 1,277
Jl2&l 31,028 29,751 1,277
201 et A H| 24,228 23,980 248
01 AFR 2t 2l Y] 23,028 21,416 1,612
OfME2d9 JI=2&8tl 200,000& « 12& 2,400
OAMREE 32 (BAX 8)
320,000& « 12& 3,840
QMBALRII ARE 1Y
240,000 * 444 % 33| 2,880
O=&J dxaz 143,000& * 128 1,716
O3l 8,000 * 249% x 5 * 12& 11,520
O8I gdx&z 56,000& * 12& 672
02 =294l 1,200 2,564 N 1,364
oREe2 100,000& = 12& 1,200
202 04| 2,000 1,571 429
01 2LHOHI 2,000 1,571 429
Oblaz22 2l Y 2,000
203 &R =&H| 4,800 4,200 600
04 2SI L RF=AH| 4,800 4,200 600
O BEA2IYERF=AY| 400,000 = 12& 4,800




